625 X 25 = 15625 = 6.25 X 2.5 = 15.625




27 x 951 = 256775 ©]-&5}9], Tt
(1) 0.27 x 951
(2) 2.7x9.51
(3) 27 x 0.951
(4)2.7%95.1
(5) 0.27 x 9.51

it

g

v VvV Vv vV VvVvyVvYyYvVvYVvyYvyy
0
L

(1) 256.77
HE D (2) 25.677
HMeFD (3) 25.677
HE D (4) 256.77
HE D (5)2.5677

B

(1) 0.27 x 951 = 256.77
(2) 2.7 x 9.51 = 25.677
(3) 27 x 0.951 = 25.677
(4) 2.7 % 95.1 = 256.77
(5) 0.27 x 9.51 = 2.5677




3. the ARTRONA Bl 71o] dure 52

(1) 0.7x 1.3 x 2.4
0.7 [ © ]
x1.3 X 2.4
[ O [ ® |
(2) 0.6 x 4.8 x 8.1
0.6 L © |
xX4.8 X 8.1
[ O [ © ]

>
>
> HE: (1)®0.91 © 0.91 © 2.184
>

el (2@ 2.88 © 2.88 © 23.328

(1) 0.7x1.3x2.4
0.7 [ 0.91]
x1,3 X 2.4

[0.091 [2.184

(2) 0.6 x 4.8 x 8.1

0.6 —{ 2.88]
x4.8 | x 8.1

[ 2.88]— [23.32§]




4.

e AL B[ Rl Sojzd Yure 42 WP oA
Lo [ [ ]
34x13%x07="—x —x—="—~»
X Lax 10 21010 ~ 1000 ]
> =
> &
> £
» £
> Heh: 34
> =g 7
> = 3094
> HEH: 3.094
34 13 7 3094
AX13X07=""x 2 x—="""=3094
3.4x1.3x0.7 10><10><10 1000 3.09

whabA] 34, 7, 3094, 3.094 LYYt}




TAS otA L.
(1)1.25x 1.21 x 0.5
(2)3.46 x 2.5 x 3.2
(3) 1.67 x 5.54 x 0.2
(4) 1.8 x 2.6 X 0.25
(5)

5)6.8 X 1.95 x 3.22

it

g

v VvV Vv vV VvVvyVvYyYvVvYVvyYvyy
0
L

(1) 0.75625
ZED (2)27.68
HE D (3) 1.85036
dE0 @17
ZE D (5 42,6972

B

(1) 1.25x 1.21 x 0.5 = 0.75625
(2) 3.46 x 2.5 X 3.2 = 27.68

(3) 1.67 x 5.54 x 0.2 = 1.85036
(4) 1.8% 2.6 x0.25 = 1.17

(5) 6.8 x 1.95 x 3.22 = 42.6972




g g w [ Jbel Solz 4t e vjaE AL TEA
9.
0.3x1.7><3.2:i><g Q_QZE

] 10 w0 [

@ 100, 17,1632, 10000, 1.632 @ 100,17,1632, 1000, 1.632
@10, 17,1632,1000, 1.632 @ 100,17,1632,1000, 16.32

® 10,170, 1632, 1000, 16.32

3 17 32 1632

. . 2=—X—Xx—=——=1.632
0.3x1.7%x3.2 10X10X10 1000 1.63

wr2bA 10, 17, 1632, 1000, 1.632 YUt}




obl 2| 9] 71 119] 7]9] 1.4 Hjo] 1, 1}e] 7] ofuiuo] 7]¢] (.7
QU ool ] 717} 165 cm & W, ok ] 7|9} o] o] 7]9] 24
2 em YU7H?

= cm

>
> HE . 15.18cm

B

(UHe] 71)= 165 x 0.78 = 128.7( cm)
(oFH ] 9] 7])= 128.7 x 1.4 = 180.18( cm)
ofH] 2] 9] 7]-oju{1] 9] 7]

= 180.18 — 165 = 15.18( cm)




FAlod] 7FE-2 stFol 5.6 L o B vhaltta gyt wid 22
%ol B4 nHATHH, 14 Betels 2 Lo B2 nhAIZSU7E? (|,
192 3659 UUtt.)

> &

=

> HMEFD 2044L

5.6 X 365 = 2044(L)




4619 x| |=46.19

4.619 o4 46.19 2 A5Ho] 2xo7
g Ate] = gAFROBRE 10 & FI AU




10. 430x 260 = 11180002 &3, th& [ | ohof ure S2
oA Q.
43x[ ]=1118
> =
> ®E 0,026
1 _
4 260 = 111800 2] oFH < &o5lH
30 x 260 800 2] = T 3o}
1
430 x 260 = 111800
20X 100000 " 100000

43 x0.026 = 1.118

[ ]=0.026




